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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

1 (a
(b)
1 (a)
(b)
(c)
2 (a)
(b)
2 (a)

(2) Marks are indicated on right side.

What is probability ? Prove the addition theorem of 10
probability
Write the methods of describing set and also write the 10
types of set.

OR

it P(4)= Y. P(B)=)) and P(4nB)= 1 10
then find P(AUB), P(A'mB') and P(A'/B').
If 4={1,2,3,4}, B={2.4,6,8} and C={3.4.5.6} 5

then prove that AN (BN C)=(AnB)nC.

The probability that 4 speaks the truth is 0.6 and B 5
speaks the truth is 0.7. If both agree about a statement
find the probability that the statement is true.

Explain mathematical expectation state the properties 10
of it.

Explaining binomial distribution state the properties and 10
uses of it.

OR
The probability distribution of discrete r.v. X is as under. 10

X=x Of1] 2 3 4 5 6 7

P(Xx=x)|0|K |2k |2K |3K | K? |2K? |7K? +K

(b)

(©)

Find :

(1) wvalue of K

(2) mean and vairance

In a town 10 accidents took place in a span of 50 days. 5
If the accident per day follows the Poisson distribution find
the probability that there will be three or more accidents in
a day.

(e‘2 = 0.8187)

For a binomial distribution mean = 6 and S.D.=./7, 5
find its perameters and P (x = 1).
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limitations of it.

(b) Write short note on second degree parabola.

OR

year 1998 from the following data.

Fit the second degree parabola and estimate the price of

Year | 1992

1993

1994

1995

1996

1997

Price | 26 3

1 40

51

66

86

(a)
(b)

(a)

OR

Explain the components of time series.
Write short note on short term variation.

Obtain linear trend by the method of least square from

(a) Explain the meaning of curve fitting. Write the uses and 10

10

10

following data. Obtain the trend values for the year 1993,
1995 and 2000 from it.

Year 1990

1991

1992

1993

1994

1995

1996 [ 1997

Production | 19.4

20.2

20.4

21.4

23.8

25.8

24.8 | 29.6

(b) Find the seasonal index number from the following data.

Season

Production

1995

1996

1997

Winter
Summer
Rainy

21
30
15

18
33
18

30
27
21
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